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GENERAL STUDIES &
GENERAL KNOWLEDGE

T 37T 3R

TS <hl ATHT AT
OF STATE
1. Which one of the following pair is L 4 9o o W a8l
correctly matched? T eI T4t
River Tributaries A TeEd - REmEd gt
A. Godavari - Chitravati, Varna B. #O8 - wiew @
B. Kauvery - Manjra, Tunga c ader - @m Fﬂ\;r
C. Narmada - Son, Luni ' e
: D, T
D. Krishna - Koyna, Panchaganga c
2. In 2022, The Chairman of ISRO is : 2. 2022 HISRO & LTI &:
A. Shri. G. Madhavan Nair A. ot Sl "rgeT RR
. Dr. K. Sivan B. 2 % R
C. Dr. Satish Dhawan C. < gdisryaT
D. Shri. S. Somnath D. . g, QT
3. Largest ecosystem of the earth is - qeaft T IURyd gerd areT uTifeefash o 2-
A. Biosphere ~ TS
B. Hydrosphere the] D bSyOgl g-_':qw[; =3l
C. Biome c. siam
D. Lithosphere D reree
4. Regarding the qualification of the 4. VR HEE 1 G I ST oh (1T AT
Member of Parliament in the F greiy T o9 97 AT 9T B
Parliament of India, which statement is :
wrong or false. A. ST BT ST 3
A. Must be a citizen of India B. QIhET o [T H & 3 25 Y ol
B. Minimum age for Lok Sabha is 25 39 BT =R
. K/elf"“_s o Raiva Saba C. TsT@T % foIw 7 & %9 30 a9 it
. inimum age for Rajya Sabha is fo
30 years & ! '
D. Must not have any criminal D. =I% SToTereh T8fHr e &Y =fed
background
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5. Who appoints the retired judges at
sittings of High Court.

A

O

President with consultation of
Chief Justice of Supreme Court.

President with consultation of
Chief Justice of High Court

Chief Justice of High Court

Chief Justice of High Court with
prior consent of President

6. Who called Bal Gangadhar Tilak the

34 AT T SA3hi § AT

~ramefti <t ffer i e 2

A

Hellodl AT o HET =ATATENR o
TR} o g

I AT o H&d =TT %
TS o g

Foel AT okl T TS
qregafal T gel Tl | 3o A
ol G HTATE T

TTATTTTER foieTeh oht WA § *372TifeT ht

‘Father of Indian Unrest’. S e T 9
A. Mrs. Annie Besant A.  sfiedt U sEe
B. Sir. Valentine Chirol B. T e
C. Lord Curzon C. EFd
D. Blumfield D. s fhee
7. Share of Agriculture & Allied sectors HHTT AT 1 Y T HwaTeg &Pl hl
in GVA is declining since 2014-15 to %FFITETQQ 2014-15 & 2019-20 T I&aT ST
2019-20 because - D I ' 2 i
A. Share of Industr}i n@eligap S y O g | @ )
B. Share of Manufacturing is A. 1 fewa g @l
increasing B. faftmfor & o1 femmm s wr R
C. Share of Construction is increasing C. fmfo = e ag w2l
D. Share of Services is increasing D & om o e AR wr R
8. Who has won the women’s single title SHadt 2022 # foreae 89 Tt STl
at the Syed Modi International Yefires et~ Tl Tehet Raarer ST o)
Badminton Tournament in Januar N
2022. ’ A HTIER ST
A. Malvika Bansod B. TRAT @it
B. Aryna Sabalenka C. wWoartf
C. Ashleigh Barty D. o &t fie
D. P.V.Sindhu S
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9. Name of the ruler who organized the 9. Smed F et aeTET 1 SRS

Second Mahasabha of Jainism. FAAT ITEF T 719 R

A. Chandragupt Maurya A, T EE

B. Jaysingh Sidhraj B. sifiE fywews

C. Amoghvarsh C s

D. Kharvel D e

10.  Zozila pass is located. 10.  Siifsre t feera 21

A. In between Darjeeling and Tibet A TSI 3T fosaa & T

In between Mana and Mansarovar B, HHT 3 HHEET 3 e

B.
C. In between Shimla and Tibet
D

In between Shrinagar and Leh C. e 3 fessret o wex

D. TR AT g & ALy

11, The Genetic Engineering Approval 11, vwa o wenfer Sust S sfid-ahieT & Gt
Committee (GEAC) whose permission ¥ Tor Smfeer sRafafar wyae o
is regglred for cultivation of any. (GEAC) A ——
modified crop such as Bt-cotton in ] >
India, is under union mlp]isté/of b ST TATET o 3T 2
A. Agriculture t J ODS yo g | BQ‘[E‘T]
B. Environment and Forest B. ateRuI s O
C. Commerce and Industry C. aifrred g
D. Rural Development
D. i fose
12. Which tax has highest contribution in 12, 392019-20 % FHs L Tora | erdt
Central Tax Revenue as per 2019-20 ATy TrTe forg T T R?
Budget? ﬁ
A. Corporate Tax A *
B. Personal Income Tax B. daftheh TRt
C. GST C. IEJEATH
D. Union Excise Duties D. i 3cTE Ik

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e

32012/TE-BHD/RCE-M { thejobsyogi.com ] Set- A






13.  Demand of a grant in Lok Sabha is 13.
made on the recommendation of whom

President

Finance Minister
Departmental Minister
Prime Minister

o w>

14. In 1935, who was the editor of the 14.
magazine ‘UTTHAN’ which was
published from District Council
Raipur?

Pt. Ravishankar Shukla
Pt. Sundarlal Tripathi
Nandkumar Dani
Swaraj Prasad Trivedi

Cow>

15. In which book did Gautam Rishi 15.
propounded the Nyaya Darshan.

A naasar {Nejobsyoql.
B. Nyaya Sutra
C. Nyaya Parisuddhi
D. Nyaya Tatva
16.  Prime Minister Narendra Modi’s vision 16.
- “5 Trillion US dollar India’s
economy” will be fulfilled up to the
year --------
A. 2024-25
B. 2027-28
C. 2029-30
D. 2030-31

foRgehl AT 9T AT g IS

i hY ST 2

A, Tsgafa

B. foam=ft
C. favrfaa=h
D. SuH w=it

1935 H fewdiae shifaet TagqR & Here
Tt IfHehT “IcAT & FTEeh i 42

ERENE RIS
LR SIS NERIE])
T AT
ENE BEICHECK]

0w >

=T &I T Tfeare Hiaw By 3 fore ower
T foparm 9o

A, (GfafEr

B. A

C. == uiwie

D. F¥dd

TETHST G5 Hiel o1 fostT «5 feferem

A. 2024-25
B. 2027-28
C. 2029-30
D. 2030-31
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17.  Name the architect of the Gateway of 17, qverg o e o 31T $fean o S

India located in Mumbai. TR
A. E.B.Havell A f ol EEa
B. G.Wittet -
C. J.Ransome B. St flez
D. Tomaz Fernandes C. %W
D. MM %Af-eq
18.  The following princely state of this 18. zousy & fmfafad femea 7 15 ovra
state did not sign the ‘Merger letter’ till 1947 a9 @9 T “fSei9-93° W g=aTe T8t
15 August 1947 Ry 9
A. Raigarh A
B. Kawardha ' '
C. Jaspur B. &4
D. Sakti C. SR
D. ol
19.  Name the method used by Alauddin 19.  raeEH Ractsit & g1 W HEe T R
l(thig! to determine the ii;ld reyenquon et e oY weafey o1 A Srqersan
standing crop.
ek thejobsyogl.corg
B. Batai B. &8
C. Long Batai C. MR
D. Rayyat lagan D. ©Id e
20.  Ultraviolet rays of the sunlight results 20.  gfweRTRT 3 TTSTTT foRtot fopereh fmor
in formation of FT R
A. Carbon dioxide A e
B. Carbon monoxide '
. . . SIE HHISATTES
C. Nitrogen oxide B }
D. Ozone C. IS TS
D. SH

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e

32012/TE-BHD/RCE-M { thejobsyogi.com ] Set- A






21.  Kyoto conference is associated with 21, e T fhae gt 2

A. Reduction in use of energy
B. Limiting production of SO-

C. Reduced emission of green house
gases

D. Reduction in the production of
photochemical smog

22. According to Hindu scriptures under 22.

the five Mahayagyas performed by the
householder for which yagya is
‘Swadhyay and Sandhya Upasana’
performed.

A, S ST H HH A §

B. SO, o 3tqTe sl HTHd A &

C. I TT3H T} % IS hi o L §
D

SIeRTRT TR ¢4 o IcdTe H hHt
K]

=g erH ST o STTET el o g fohet
SIECIRIER R R R R RG]
HerareET R a1 o ot foam STt 21

A SIIF
A. Brahm Yagya B. ¥ug
B. Deo Yagya
- C. ®Waw
C. Rishi Yagya
D. Gyan Yagya D. =y
23. Which of the following is different. 23, A RTINS -
A. TISCO I '
thejobsyogi.corr
B. MALCO B. MALCO
C. MISCO C. MISCO
D. 1ISCO D. 1ISCO
24.  District having highest Literacy rate 24, SHTOMT AN 2011 % SFTAR HiTersh Q&
according to census 2011 is 1A ST B
A. Raipur A, TER
B. Balod B aE
C. Durg c =t
D. Dhamtari D
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25.  'Who won the Nobel Prize for Literature

26.

217.

28.

in 2021?

A. Benjamin List

B. David W. C. McMillan
C. Abdul Razak Gurnah
D. Klaus Hasselmann

According to the Smriti Literature how

many ‘Mahayagas’ should a house
holder perform for atonement?

A 3

B. 5
C. 7
D. 16

Who will act as President of Nagar
Panchayat if President and Vice
President are absence on leave -

A. The Senior most councillor

B. Member of Lok {alb‘ir@l]iﬁbg ‘y’ O g | .

officio member

C. A councillor elected by the elected

councillors by them

D. The Acting president will be
nominated by collector

The chairman of Chhattisgarh State
Finance Commission is

A. Atal Shrivastava
B. Umesh Agrawal

C. Serjius Minj

D. Gurpreet Bamara

25.

26.

217.

28.

T 2021 o T |nieed & & 8 Aiea
T forT € -

A. STt fofee

B. i ssey, €l tefie

C. g TS0 T8

O

D. TS 2qai

HId BT o STHR T[EE i TR
IRERETERHRRECISIITR]

A 3
B. 5
C. 7
D. 16

Ife TR U= o TeTe T JuTeey

TSI T B o HRUT ST & T i

ST o 9 H h hT -

A. FEdy uTve
g%wwa‘rﬁw%

C. (artfera aroiel grr 3o o & 1 T
Teh UTSe

D. 37487, Shcdded o g ATTHA fohaT
STe

SIETE TS T ST o 31eaeT 2|
A, A Hiaredd

B. SHY ETA
C. afEE i
D. Tfid ST

32012/TE-BHD/RCE-M
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29.  Which morphological region is in the 29. I o forEr V3TTHIdeh =T o F=eiq
state of Chhattisgarh. SATETG TS 37T 2
A. Northern Plain A, ITaeH
B. Peninsular Plateau B. YRE 18K
C. North Mountain region C 3T TR
D. Coastal Plain D A5 e
30.  What is the rank of this state in forest 30. W & TS wieia 2021 % FTER
coverage as per IFSR Report 2021? STERTE U 39 T T T 57 87
A. Second A. fed
B. Third B. dd
C. Fourth C. %l?ﬁ
D. Fifth D e
31. Which is the component of multi- 31. i ATART % T A 2021 H S 8-
dimensional poverty released by Niti SATITHR FIEiaT ST T e 22
Aayog 20217
yod , . A, sfisafs o
A. Per Capitalncon{eh eJDbSyog | C%
B. &h
B. Educational Status
C. T feufa
C. Health Status
D. 3w auft
D. All the above >
32. How many irrigation projects of this 32, gerwst g AISHT o S SH ST &
state are included under Prime Minister forat =TS e SIS At =it 22
Sinchai Yojana?
A. Two A
B. Three B. =
C. Four C. IR
D. Five D. ufg
SPACE FOR ROUGH WORK / T% &t & fora srire
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33.

34.

35

36.

Manendragarh — Chirmiri — Bharatpur 33.

district is a part of which of the
following district?

A. Jashpur

B. Surajpur

C. Balrampur

D. Koriya

The name of the program to be held on 34.
the day of Vijayadashami in Bastar

Dussehra?

A. Bhitar raini

B. Ohadi

C. Mavali Parghaw
D. Dussehra Jatra

When Gram Sabha passes resolution 35.

for Annual Working Plan, Selection of
Beneficiaries, Annual Budget and
Administrative Report.

A. If Sarpanch is present in the
meeting of Gram Sabha

B. If Deputy Sarpanth@i@ha S y O g | .

the meeting of Gram Sab

C. If Prescribed Authority is present
in the meeting of Gram Sabha

D. If there is Quorum in the meeting
of Gram Sabha

On which of the following date, 36.

International solidarity day is
observed?

A. 25" December
B. 23" December
C. 21% December
D. 20" December

&R <90 § forsraresd & & 21 ot
ISR T T 27

A, ofrar

B. 3t

C. Hracit wEe

D. &0 SE

Tfeh it e, fequnfeat =1 ==,

Tier sTSTe 3T TemEeh Ufdded W umH
YT ohel Hehed TR ] R

A.  Ife am g4 I See § oo 3uiked

ar
: T S o3k T 3 T
eiails
C. afe um ayr it Soah 1 fafea sAfereerl

Jufeerd &
D. afe o &1 Y 3 H Torgfet &

RIS A Tehofed feaw e 5 &
foper fo wma St 2

A. 25 fegst
B. 23 fgsr
C. 21fg@s
D. 20 fegsr

32012/TE-BHD/RCE-M
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37.  Which institution publishes “World 37.
Economic Outlook” (WEQO)?

A. World Bank
B. United Nation
C. LMF.

D. W.T.O.

38.  What position has Raipur Municipal 38.
Corporation got at the national level in
the year 2021 for cleanliness?

A. 3¢
B. 4t
C. 8
D 6th

39.  The Hindu religious philosophy 39.
focussing on materialism is -

A Nyaypashan LNE]JODSYOQI.L

B. Charvak Darshan
C. Mimansa Darshan
D.

Shaiv Darshan

40.  Which is not major mineral product in 40.
this state?

A. Dolomight
B. Coal
C. Iron-0Ore

D. Non of these

It Tee “fag oTidfen gfvenior wftaea
JeRTTITA AT 22

fog S

<6 T
9O A~

RIS HEThIY

o o w >

forg =IO Hirea

T TR 7T =l S=adl o ford a 2021
T TSR TR R hiET T STH g3 2

A TdE
B
C. 3EH
D

¥iifoie g i JeraT o arel fewg e

D. SEesH

TH TS H HI6T @ 3TE T Gt
3caTE T 2

A. SRS
B. &=l
C. dIE— &
D

. THA R AR
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41.

42.

43.

44,

45.

What will be contribution of own tax
revenue in total revenue receipts of this
state in the year 2020-21?

A. 49.39%
B. 55.49%
C. 32.65%
D. 31.20%

What is the name of the “Navakhai”
festival in the Gond Tribe of Bastar?

A. Chherata
B. Mati Tihar
C. Jetha

D. Pandum

‘Oriya ke pani Barendi Nai Chade’ The
meaning of the above Idiom is

A. Non-working
B. No progress
C. Canal water
D. Poor person

Author of the Novel ‘M%}Q‘Q’S y O gl .

is -

A. Keyur Bhushan

B. Banshi Dhar Sharma
C. Baldeo Prasad Mishra
D. Shivshankar Shukla

Which tree is believed to be the abode
to ‘“Thakur Dev’ the folk deity of this
state.

A. Ficus

B. Banyan
C. Tamarind
D. Semal

41.

42.

43.

45.

a9 2020-21 H 38 TST 6 Fef TSTed TIHaAm
¥ Tart o L TSI 36T T ARTEH Lo

A. 49.39%
B. 55.49%

C. 32.65%

D. 31.20%

e Y 1T SISTTf & T WTS* Er i
T FEd 27

A. =TT

B. urlfier
C. Sar

D S

3T 3 gt SiEl 3 T’ TR sharerd

9 TSY o Al qardT ST 93" T e
fore &7 H | ST 2

foTer

ST

SHeA

o

0o w >

32012/TE-BHD/RCE-M
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46.

47.

48.

49.

50.

Following is made on horizontal
sedimentary rock of Cuddapah rock
system.

A. Mahanadi Plain
B. Samari Pat

C. Main Pat

D. Koria

In how many main sectors is Indian
forest divided as per Administrative
base.

A. Two Class
B. One Part

C. Three Class
D. Four Class

The rate of per day labour payment
under Manrega for the financial year
2021-22 is declared -

A. Rs. 200
B. Rs.173
C. Rs. 183
D. Rs.193

Horticulture and forestry university of
this state will be opened in which of the
following district?

A. Raipur

B. Bilaspur
C. Durg

D. Jagdalpur

Who amongst the following is a winner
0f2021’°s Asian champions trophy
Men’s hockey tournament?

A. Japan

B. India

C. South Korea
D. Pakistan

the|obs

46.

47.

yog.

HEUIT I THE o AATTSTeh JTeETe St T
ST 8-

A. HEHE HEH

B. @m{ure

C. BFURe

D. aif@m

RT3 HTET T A H o 1 &I
et ot # forvieh forar Trarm &2

A. @

B. T W
C. dmemid
D. =RamH

focfim ad 2021 - 22 & @ A= %
F=rial Sfafe wrell o s <6t g
A. 200 %

B. 173 %W

C. 183%W

elsil

9 U9 H Senfehl e anfeht frgformer
= o v fore oy & et s

B. focmag

c. &

D. SeAR

2021  Tf¥rs Aftrere Zrhr ge S
At 1 forar fFre § G i 2
A STOH

R

afeqor shifen

qTfoREdT

©ow

Set- A

SPACE FOR ROUGH WORK / &% &Td & fo1& se

[ thejobsyogi.com }

32012/TE-BHD/RCE-M





51. Multimedia is widely used to add o1

GENERAL KNOWLEDGE

OF COMPUTER

special ------ to movies.

A
B
C.
D

52. A program that is used to view websites 52.

Arrangement
Attachments
Control

Effects

is called a -----

A

O O w

53. -

B.
C.
D

Browser
Web Viewer
Spreadsheet

Word Processor

-- cannot be used to work in M

Office. he JDBsyo

A.

Joystick
Scanner
Light Pen
Mouse

HFIE hY ATHT AR

eft 7 ForeI - St o fore wedifirdan &1
19 &Y ¥ IUFT foraT ST 2 |

A. aE

B. H&™®

C. =

D. v

Teh ST ST JeTTSe] ohl 4@ o TeTT START
e ST R, 3T - FETACTR |

A. FSS

B. a3

C. Heefic
D. I M

------- T STINT TH TH AT T S
| ¥ O e s EeaT R |

A. Srfes
B. &N

C. dAREW
D. =R=d
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54.  Which of the following is an example 54, fyfefaa & @ o fare aga i

of a real-time operating system? forees T Uk 3eTETT 22
A Lynx A. foaa
B. MS-DOS B -
-S
C. Windows-XP qu
D. Process Control C. foeruwd
D. gfskam fairor
55.  GIF stands for ----- 55.  GIF &1 e ----- gl
A. Graphic Interconnection File A.  TTitheh SR HIed
B. Graphical Interface Format B. WIfthehel SThE TTET
C. Graphic Information Format C. e g ey
D. Graphic Interchange Format D. I StaisT Iy
56. SEO stands for 56. SEO 1 Haels - 2
A. Search Entry Optimization A. Search Entry Optimization
B. Search Engine OH'(F“ @tj@ b S y O g B (9t Engine Optimization
C. Search Engine Operation C. Search Engine Operation
D. Search Entry Operation

D. Search Entry Operation

57.  Which of the following is a Single-user 57. fymfefad # @ o Uehet SURWTSRAT

operating system? AT foreew 82
A. MAC A. MAC

B. Windows B. faem

C. MS-DOS C. MS-DOS

D. None of these D. =&

SPACE FOR ROUGH WORK / &% &Td & fo1& se
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58. Which file contents are readymade 58. &\ di Wit A WEive Siferat ® fSehT

styles that can be used for a word ST el o Tearaet 3 for R =
document? T 29
A. Presentation
B. Letters A SRR
C. Magic Wands B. W&
D. Templates C. AfNFars
D. ¥eicH
59. A compact Disk provides ----- type of 59. us HFE f&Teh —-ooem- TR hi 2T
data access. TR Y T )
A. Sequential A
B. Direct 5 SIF;&T
C. Both (a) and (b)
D. None of above C. @M (a) 3 (b)
D. 3k s et
60.  The basic goal of the computer process HIZT ITSHAT T e A&T S 3l - )
is to convert data mtoth ej 0O bSyog | TR -
A. Graphs A T
B. Information
C. Files B. I
D. Tables C. WA
D. IscH
61. CD and DVD drives are examples of --- 61 M A AL - F ISR
A Fife fife
A. Coding Media
B. Solid stage storage B. Hifofe w5 I
C. Zipdrives C. g
D. Printers D. firx

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e

32012/TE-BHD/RCE-M 17 Set-A



62.  General purpose computer is used for- 62. W YA & SRS CREEIICERIY ETEED
A. Creating a small database SESERISICIEE
B. Performing calculation A. T BT S M I
C. Accounting B, TUMTEHETY
D. All of above :
C. Ui
D. SUrh avft
63. A smaller version of an image is called 63. ue B F T DI TR B - el
- ST |
A. Clipart A fregard
B. Bitmap
_ B. feeiu
C. Portable Network Graphic
D. Thumbnail C. et e T
D. efEAd
64.  The CPU is also known as - 64. CPUSIZ@ &I T off AT TR -
A Treeain  {NE]ODSYOQI.CGHRR
B. The Processor B o
C. The Central Processing Unit '
C. Tz TafdTgfe
D. All of above °
D. STk @t
65.  The physical components of a computer 65.  sheret o wiifcreh ehi hl AT T STl &7
are called?
A. TR
A. Software
B. Hardware B.
C. ALU C. Ttayg
D. CPU D. #dig
SPACE FOR ROUGH WORK / T% &t & fora srire
Set-A 18 32012/TE-BHD/RCE-M



66. McAfee is an example of ------ 66. McAfee ------- T ST 2 |

A. Virus A, JEIE
B. Quick heal B. F&aeT
C. Antivirus C. ufaracy
D. Photo editing software D. ®r e gt
67. Search engines are able to search ----- 67. ud T e FEECARSIECANRCISE R
type of information. e 2|
A. Video A, afeat
B. Documents B. e&dEs
C. Images C. =
D. All of these D yasht
68.  Which is used for printing graphic 68. U o mnfteer sTReye fiie i % fog
output on paper? fohgreRT U= BT 87
A. Dot matrix . . 3
. ww  thejobsyogi g™
C. Laser jet C. A=
D. Plotter D @i
69. How can an antivirus protect your 69.  utamre ek feareH i gea FH
device? THdT &7

A. It can protect it from overheating A, T8 SR T A Y ST T R |

B. It can increase its performance

_ B. 9% 379 Y&¥H I TG HehdT 2 |
C. Itcan prevent data from getting
corrupt C. o ST I Il T & Sl Tl € |
D. It can backup data D. JESFTIFIT A TFATE |

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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70. " The ---- works with the standard copy 70.
and paste commands.

A. View tab

B. Paragraph Dialog box
C. Office Clipboard
D

All of above

71. What is the term for a temporary 71.
storage area that compensates for
differences in data rate and data flow
between devices?

A. Buffer
B. Bus

C. Channel
D. Modem

72. Which of the following storage media 2.
provides sequential access only?

A. Floppy Disk thejﬂbﬁyog ]

B. Magnetic disk
C. Magnetic tape
D. Optical disk

73.  The following is the first computer 73.
printer.

A. Laser

B. Inkjet

C. Dot Matrix

D. None of the above

Teh ST WSRO o feTu o7 318 & ST
YN o S STeT T 3T ST yaTe |
AT T YTATE LT 27

BTN

Ere)
EE
areq

o o w >

freferfad & @ s a1 € fufear e
i ferreT v Yo HaT 22

jelatas e
B. A fewh
C. w2y
D. ofteshat fewh

<ie afga
ST § & S Tt

SPACE FOR ROUGH WORK / &% &Td & fo1& se
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74.

75.

76.

77.

Which type of software is designed for

user to customize programs.
A. Freeware

B. Open-source software
C. Shareware

D. Macros

Select the second name of the web
crawler.

A. Web spider

B. Search optimizer
C. Link Directory
D. Web Manager

The laser printer is the printer of which
category?

A. Impact Printer thejﬂb3y09|

B. Non-impact Printer
C. Line Printer

D. Serial Printer

Which of the following is not an
operating system?

A. Windows
B. Linux
C. Oracle
D. DOS

74.

75.

76.

77.

foREr TR AT HTFCAIX STANThA 3L oh 7T
ST 3T SAH(A B o foTg TSt foram
T R?

A.  ThIRR

B. 3TvH-HE |9
C. IFEW

D. Wehist

SIsT ShieTC ohT GO AT 7
A. A9 TEE

B. & ’IFAH
C. fofsh fafram
D. 9 st

AT fSe forg Soft o et 22

A, 3 I
CQM e
C. @A it
D. dife fimex

fafafaa 9 @ i we AT fawen 7=
27

o0 w »

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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/8. Servers are computers that provide 78.
resources to other computers connected
to a -------
A. Client
B. Mainframe
C. Supercomputer
D. Network
79. What is the full form of Internet ? 79.
A. Intercontinental Network
B. Internal Network
C. Interconnected Network
D. International Network
80.  Which is harmful to the computer? 80.
A. Shareware

B
C.
D

e U T &N B S - TS 3T
HRIET hT T & LA 2 |

FeATEE

EEPT)

O 0 W »

SIThITeASH Hedeh

A

B. IHd Acas
C. EThidE Aeah
D. AT Jeash

FHR o T I AT FTHhT 82
A @I

Antivirus thejﬂb8y09|@{%ﬁﬁw

Virus

Freeware

C. arw
D. famx

Set- A
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GENERAL MENTAL ATHTT WA R THIar

APTITUDE
81.  Find the missing term 81. forcTw U i T L
@R
OO OO0
A. 15 B. 17 A 15 B. 17
C. 18 D. 19 C. 18 D. 19
82.  What terms will fill the blank spaces? 82. &\ @1 ug ek Tl 0T
ab —abba — abb — aaaa — bbb ab — abba — abb — aaaa — bbb
A. abab A abab
B. aabb
C. aaab B. aabb
D. aaba C. aaab
D. aaba
83.  Find out the number of squares in the 83.  fad T 3TTeRf H T ShY WEAT FTA B2

given figures.

theijSyOgi-/@QQ I B. 16

A. 15 B. 16 c 17 D 18
C. 17 D. 18
84.  Find the missing term 84. forqTW U i T L

B G N B G N
D J R D J R
G N ? G N ”

AU A U

B.V B. V

C. W

D. X C- W

D. X

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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85.  Which letter fill the blank space?
A B,D,H, -

AL M

B.
C.
D

OO0 T

86. Select a suitable figure from the four
alternatives that would complete the
figure matrix.

& | X|%
=Q=<=5=’9
HEIE
A.

+
B.

S
C.

4
D.

ER

- PPPE

85.

86.

thejobsyogi

87.

I |7 378 T T Rl OT?

A,B,D,H, -
A. M
B. P
C. Q
D. R
AT forehed! & § Toh ITITH AR T =
ShIfSTT it 3ATeRfer & Afger o
| X%
& 0
0
H S|
A. l
B.

Role

I
e
R

aplhglalng

WhICh number is opposite 3? 3 o foafia =i o s 22

A. A 1

B. 2

C. 4 B. 2

D 6 C. 4
D. 6

SPACE FOR ROUGH WORK / T% &1 & o1 s1Te
Set- A 24 32012/TE-BHD/RCE-M



88. Choose the odd numeral pair 88.  forwm Skl STt shl YT

A. 24-21 A. 24-21
B. 46-32 B. 46-32
C. 62-23 C. 62-23
D. 84-24 D. 84-24
89. If HEATER is written as KBDQHO, 89. gfe HEATER I KBDQHO fet@r sirar @
how will you encode COOLER? ar 36T g & COOLER 3l T I hidl?
A. ALRIHV A. ALRIHV
B. FLRIHO B. FLRIHO
C. FLIRHO C. FLIRHO
D. None of the above D. ST H & g Tl
90. In the series 2, 6, 18 --- what will be the 90. 2,6, 18, -- AU T 6 a7 Ug AT BM?
6" term? A 162
A. 162

492 492

E @ thejobsyogi.tdn

None of the above D. 39U H U IS Tt

91 Find out the number of squares in the 91. {3 T STTeRf | T ST HEAT FTA H2
given figure AN

L L
o <

A. 19
A. 19 B o
B. 20 - 20
C. 22 C. 22
D. None of the above D. 39 H U &l Tl

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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92. In the following diagram rectangle 92.  ffifiad smepf AT Qi

represents Men, Triangle represents gfefferea i 2, ﬁsisrﬁf&mam
educated. Circle represents Urban and yfefferea oar 2, o wredt o1 Tfaf e
Square represents Government FAT 2 3t g ST
employees. SRyt s &
Which of the following represents the 14 0 Tl e o1 el shadt 2 it
educated Men but not Urban >
/—\ MU
9 7
1(;\) ﬂ—\m -
13
12
? 9 12 6 ) 13
14
1 14
f 5 } 11
A 9 :
' A 9
B. 5
B. 5
C. 4
D. 11 C. 4
D. 11
93.  Choose the number which is different 93. W HEAT I YT ST T H g HeA |
from other in the groufh e - D bS O | ﬁﬁm
A. 1532 J y g A 530
B. 4268
C. 5846 B. 4263
D. 7648 C. 5846
D. 7648
94.  Find out the number of triangles in the 94. {3 T For= H IS oh ET 91 2
given figure.
A. 10 B. 11
A. 10 B. 11 c. 12 D. 13
C. 12 D. 13

SPACE FOR ROUGH WORK / &% &Td & fo1& se
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95. IfA+B=2CandC+D=2Athen
A+C=B+D

A+C=2D

A+D=B+C

A+C=2B

A

B.
C.
D

96. Find the missing term in the given
series

2,5,9/19,37,7?

A
B.
C.
D.

74
75
76
78

97. Find out how will the key figure X look
like after rotation

95.

96.

97.

T A+B=2C IMC+D =2A dl

A
B.
C.
D.

A

B.
C.
D

A+C=B+D
A+C=2D
A+D=B+C
A+C=2B

ERRPRUIRESERCEICREIE
2,5,9,19,37,?

74
75
76
78

A ST X A o S1E FET [T I

E2y

thejobsyoqgl.tq

Nt

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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98. Choose the missing term out of the
given alternatives

AZ,CX, FU,?

A. JQ

B. KP

C. Iv

D. EF

99.  Find the missing term

5 ? 49
9 17 | 69
131 11 | 59

A. 10

B. 13

C. 15

D. 21

100.  Which of the following diagrams

correctly represents

Athletes.

98.

99.

e T forshe o & forqw v st -

AZ,CX, FU,?
A JQ
B. KP
C. Iv
D. EF
EREREEIRICED
52 | 49
9 |17 | 69
13 | 11 | 59
A 10
B. 13
C. 15
D. 21

100. 1 o @ I &1 ot TSI, BT 3R

THE[BBSyogi . EOITT ™= =¥

C.
’ ©
SPACE FOR ROUGH WORK / &% &Td & fo1& se
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101. If GIVE is coded as 5137 and BAT is 101. afe GIVE FThi€ 5137 IR BAT I IS

coded as 924, how is GATE coded? 924 2 G GATE %1 8 FI€ T
A. 5427 A 5427
B. 5724
C. 5247 B. 5724
D. 2547 C. 5247
D. 2547
102. Find the missing term. 102, forQTe v i T L
(® ® @ (® ® @
A. 25 A 25
B. 50 B 50
C. 60
D. None of the above C. 60 .
D. 39 H ¥ I Tal
103. Find the wrong term in the given series 103. {3 T Syoft & TTerd ug Frd feRfete
15, 16, 22, 29, 45, 70 15, 16, 22, 29, 45, 70
A LS 5. 22 A 2. 22
' ' \ . C. 45 D. 70
104, Find out number of cdbke RGNS Y O 0] .65@ K s v e e
figure.
Figure (x)
-
igure (x) A 10
A 10 B. 11
B. 11 '
C. 12 C. 12
D. 13 D. 13

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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105. Choose the odd one
AUDIO

A.

B.
C.
D.

106. In certain code language
A) ‘pit na som’ means ‘bring me water’
B) ‘na Jo tod’ means ‘water is life’
C) ‘tub od pit’ means ‘give me toy’
D) ‘Jo lin kot’ means ‘life and death’

Which of the following represents ‘is’
in that lang age.

A

B.
C.
D

107. If tall is equivalent to
to triangle and strong
indicate which number will represent

ARISE
VIDEO

AWAKE

Jo
na
tod
lin

strong armyman?

o o w >

o o1 B~ W

1

\

IroleAmy

7
6

4

mSyoyl.

105. w1 g

A
B.
C.
D.

AUDIO
ARISE
VIDEO
AWAKE

106. afe ffgr et wr A
37) pit na som’ T 37 “bring me water’

g

) ‘na Jo tod’ T 31 ‘water is life’ ¥
%) ‘tub od pit’ T 31 “give me toy’ T
) ‘Jo lin kot’ HT 31 “life and death’ &
qr 39 wE § fefaiad § 9 <is” &

gfefferes shear 2
A. Jo
B. na
C. tod
D. lin
1§ﬁﬂ§q%ﬂm?§@m$mﬁmﬁﬁa
TAT ASTS[d ATk 2l 7 o I & AT i T
3o TSTEd |1 o ST sl TEIRId hUM?

o\

>N 4

>
3 6 5

o o w »

Set- A
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108. Correct the given equation by 108. g G@AT ! ATIH T deereht fU 7T Teiehtor
interchanging two numbers F1 S P

8x3+4+9-5=16 8x3+4+9-5=16

A. 3and4 A 334
B. 4and8
B. 43RS
C. 5and3
D. 5and9 C. 533
D. 539
109.  Which of the following diagram 109. e & & o ©t o1l ufa, frere wa
correctly represents Women, Teachers, TTaT o HeT O] Treel ! TR oaT 82
Mother.
A.

- (@
° ©
‘@

the|obsyoql.€o
D. O J yOd @O

olejele

110. A cube painted yellow on all faces is 110. gft Tetent 9T died TT | T Ueh o4 1 TG0

cut into 64 small cubes of equal size. ST 3 64 B BT § T ST 2, TR
How many small cube are painted on S5 TT ¥ A R
two face only? '
A. 16 A. 16

B. 24 B. 24

C. 32 C. 32

D. 36 D 16

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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GENERAL QTHT ot
MATHEMATICS
111. Any amount gets triple in 15 years 6 111. =i ST ATemer T it X/ 15 99 6 AT
months at simple interest, then in how o o T 81 ST & | | g AR fohde wHa
much time will it be double? o gAY Bt SR 2
A. 6 year 3 month A 6a93HE
B. 7 year 9 month B. 7af9umE
C. 8year 3 month C. gad3mE
D. 9year 6 month D. 9= 6mTE
112. What is the smallest perfect square 112. g7 =gFaw qul ot S 31d e st 3, 4,
number which is divisible by 3, 4, 5, 6 5, 6 3T 8 T frursT 22
and 8?
A 1200 A. 1200
B. 900 B. 900
C. 2500 , ~C. 2500
. 3600 thejobsyogl.gcam
113. The average temperature for 113. YA, TEAR S FHA AT A AIH
Wednesday, Thursday and Friday was 40°C 9T, TR, IEFAT 3T ISR T
o . ) EERN)
40°C. The average for Thursday, Friday 5 41°C o af TRERE
and Saturday was 41°C. If temperature
on Saturday was 42°C, what was the ATTHT 42°C o, AT e T AT e
temperature on Wednesday? g1?
A. 390C A. 390C
(0]
B. 40°C B. 40°C
C. 44°C
D 41°C C. 44°C
D. 41°C
SPACE FOR ROUGH WORK / T% &t & fora srire
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114. 1 . 114. 1

The value of 1+ s 1+ 1 FAFR
1+1_—l 1+1_—l
6 6
A 6 A 6
11 11
B. 16 B. 16
11 11
C. 7 C. 7
6 6
D. 1 D. 1
6 6
115. For any two numbers m and n, if 115. foei a1 Teametl m 37 n & forg, afe
(m+rj]|_) 3](-m_n) :mn=7:1:60, (m+n):(m-n):mn=7:1:60%,
then E:Hls gﬁi;l
m n
A. 34 A 34
B. 43
c. 78 B. 43
D. 87 C. 78

) . D. 87
116. If the unit digit in thetm@tj O bS yogl 'ﬁgmﬁx 28@ x484)  UMHA

in place of @ is 3755 T
é' :73 [B) Z A. 3 B. 5

' ' cC. 7 D. 8

117. Find the expenditure on digging a well 117. 15%. gfa o der Hr T 14 H, TeL 3R
14m. deep and 3m. diameter at the rate 3 1t ST FTer U 1 @ied T fohaT @
of Rs. 15 per cubic meter. - °
A. Rs. 1185 '
B. Rs.1285 A TI8S .
C. Rs.1385 B. 1285%.
D. Rs. 1485 C. 1385%.
D. 1485%.

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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118. In the following figure, which of the
following statement is false?

oo w>

119. In the following figure if
ZAOB=110° and ZAOC =130° then

A1+ £2=180°
£2+ /5=180°
£3+ £8=180°
Z2+ /6 =180°

find ZBAC

118. fau g fomr ®, fe § h19 97 shed 316 22

< P m
> m /f%

A1+ £2=180°
Z£2+ /5=180°
£3+ £8=180°
Z2+ /6 =180°

119. fam g afe ~LAOB=110° 3R

ZAOC =130° @I /BAC 31d FIfsH |

A
A
N 1 .
\ thejobsyoqi.
(o]
A 650 A. 65
B. 75°
B. 75°
C. 60°
C. 60° D. 700
D. 70° '

120. The difference between compound 120. wH e UMW 10% FI T T2 a0 &
interest and simple interest of 2 years, TehaTeE SITST Ue ETHRUT SITST T 3T 20
on a sum of money at 10% per annum -

IS Rs. 20, The sum is RIFEARIE

A. Rs. 4000 A. 4000 %.

B. Rs. 2000 B. 2000 %.

C. Rs. 1500 C. 1500%.

D. Data inadequate D. siiwe st 2

Set- A
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121.

122.

123.

124.

In a family, the age of father, mother,
son and grandson are A, B, C and D
respectively. fFA-B=3,B+C =78,
C + D =33 and average age of the
family is 34 years, then find value of (B
- C).

A. 19
B. 20
C. 21
D. 22

If /4096 = 64, then the value of
\/40-96 ++/0-4096 ++~/0- 004096
+~/0-00004096 is

A 712

B. 7.09
C. 7.1014
D. 7.1104

The surf f is 1734¢m?
wemen | tH1€]0BSsyo

A 4096cm?
B. 2197¢m?
C. 4913cm®
D 4900cm?

If the number 97215%6 is completely
divisible by 11, then the value of * will
be

A.

P NN w Ol

B.
C.
D

121.

122.

123,

gl.

124.

ek e H fOe, wrT, 9 ST 9§ Y
U A, B,C 3R DBIARA-B=3,B
+C =178, C+D =33 3R giar i 3eq
Y 34 99 2, 1 (B — C) T A 1@
ifsm)

A. 19

B. 20

C. 21

D. 22

gfe 4096 = 64, a1
\J40-96 ++/0-4096 ++/0- 004096
++/0-00004096 FHTAFME

A 712
B. 7.09

C. 7.1014
D. 7.1104

Teh 5 1 981 &5het 1734 S 2l
BT

A. 4096 &
B. 2197 &+’
C. 4913 @
D. 4900 &’

afe AT 972156, 11 | quiaar foveh
&1, AT * %1 A QA

A

= N W O

B.
C.
D

SPACE FOR ROUGH WORK / &% &Td & fo1 s1e
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125.

126.

127.

128.

A bag contains 50-paise, 25-paise and
10-paise coins in the ratioof 5: 9 : 4. If
the total value of coins is Rs. 206 then
the number of coins of each type.

A. 100, 400, 560
B. 200, 360, 160
C. 120, 560, 60

D. 150, 400, 310

If 1.125%x10K =0.001125, then value
of kis

A -1
B. -2
C. 3
D. -4

The difference between the simple
interest received from two banks on Rs.

i difirence bovueeh st 0 S Y O

A. 0.25%
B. 0.5%
C. 1%

D. 2.5%

1l +111 +111l +1111l =7?
2 2 2 2

1236

1234

1232

1230

Cow>

125.

126.

127.

128.

Tsh ST H 50 99, 25 U9 997 10 U9 & fah
5:9:4 % U W 7 | e
THET qed 206 &, 8 e forfi frereni ot
T HEST: BT

A. 100, 400, 560
B. 200,360, 160
C. 120,560, 60
D. 150,400,310

fE 1.125x10K = 0.001125, A k T T &
A -1
B. -2
C. -3
D. -4

1 SRl AT 500 F. U 31 N7 o FTERT
SITST AT S 2.50 &. § | ST o1 &0

fepsieaifo g 2
0.25%
0.5%

1%

2.5%

o0 w»

1l +111 +111l +1111l =7?
2 2 2 2

1236
1234
1232
1230

o0 w»

SPACE FOR ROUGH WORK / &% &Td & fo1& se
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1291 pxt pxt =320, then value of x is 129 gfy px1y =320, @ x HIAF T
A 6 A. 6
B. 8 B. 8
C. 5
C. 5
D. 7
D. 7
130. |f the diagonal of a rectangle is 17 cm. 130. g weh TId o forervt it odarg 17 At @
long and the perimeter of the rectangle 3 3TRrd 1 IR 46 Y X ) 39 3TRIG
is 46 cm. then the area of the rectangle
_ T &% BT
is
A. 2
A 112 em? 112 ot
5 , B. 120am?
* 120 cm )
C. 132
C. 132cm? D. 559 a2
b, w2 LNEJODSYOQI.COM
131. 131.
V124122 ——— =2 V124122 =2
A 3 A3
B. 4
B. 4
C. 6
C. 6
D. 6%k

D. greater than 6
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1323 E;(E 1_1);§_ 1323 E;(Exl_lj;ﬁ_
2 5 (44 5) 15 2 5 (44 5) 15
A 3 A 3
2 2
B. E B. E
25 25
C. 6 C. 6
5 5
D. 4 D. 4
5 5
133. If an article is sold at 5% gain instead 133. afc weh A T 5% T o Tt 5% AT
of 5% loss, the seller gets Rs. 6.72 o S O fashdr 6.72 &, 31fres ame war @
more. The C.P. of the article is | QT FT T T &
A. Rs.67.20 A. 6720%.
B. Rs.120 B. 120&
¢ Re1s0  {NEJODSYOQI.CoMM=
D. Rs. 240
D. 240%.
134. Find the value of k, ifx=1,y=2isa 134. afgx =1, y = 2 AHIEHOT 2x + 3y = k &l
solution of the equation 2x + 3y = k g 2, I k T 9 19 hifsra)
A 6 A 6
B. 8 B. 8
C. 7 C 7
D. 5 D. 5

Set- A
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135. Water tax is increased by 20% but its 135. ST FUH 20% T JRE B T IHeh @I H

consumption is decreased by 20%. 20% hT HHT T &1 7T | ?ﬁiﬂ'&]’&[ﬁ
Then the increase or decrease in the e faTd st hHT 3TUET afee g
expenditure of the money is
A, 5% RHT
A. 5% decrease
B. 4% wHl
B. 4% decrease
: C. 4%3fz
C. 4% increase N
D. No change D. o
136. 136.
Ifx+£:2,then x3+i3=? aﬁ;’x+£:2, ?ﬁx3+i3:?
X X X X
A 2 A 2
B. 8 B. 8
C. 14 C. 14
D. 64 D. 64

137. A motorcycle is movitnt%g @Qo% y O@I &%W 25 Tepefi/eie ot =Tt &

25 km/hr. and its speed is increased by e Tal & 37N T 5 % i o suh =T
7 km/h_r. at _the gnd of each hour. How 7 Fopeft.feieT o1 STt 21 225 Fpelt, o6 ot o
much time it will take to cover a . =
distance of 225 km. ? hT o 58 TehtTT e T
A By AL

2 2

B. 11 .

B. 11, 0 e

2
C. 6hr C. 6w
D. 7hr D. 7%
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138. A train having a length of 500 meter 138. 500 HieX it wah WermEl 1 e & 1000

passes through a tunnel of 1000 meter Hiet Tel FT hl TR LT 8l IH LeHTIS! hl
in 1 minute. What is the speed of the Tt gt -
train.
A. 96 TorHt / Eier
A. 96 km/hr
B. 87 fereft/=er
B. 87 km/hr
C. 90 fersft/ =
C. 90 km/hr
D. 75km/hr D. 75l /st
139. A shopkeeper buys mangoes at the rate 139. w gHMER 21 &, H 3 fohell shi a0 & =77
of 3kg for Rs. 21 and sells them at 5 kg GledT e 3= 50 €. 0 5 fher i gw
for Rs. 50. To earn Rs. 102 profit, he ST R 1 102 &, T FH & o1 39 fohaq
must sell 39 S 8
A. 26kg A. 26 fFe
B. 32kg B. 32 fFei
“ e thejobsyogi.eof
D. 56k J y g '
| D. 56 et
140. In aright angle triangle the ratio of 140. we qwehIoT RIS H a1 =IAhI0I T STATT
acute angles is 2:3. What are of values 2:3 % | 37 I T T T B2
of these angles?
(0] 0
A 18° 5490 A. 18° 54
B. 36°54° B. 36°54°
(0] (0]
C. 400, 60° C. 40° 60
(0] (o]
D. 300 450 D. 30° 45
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GENERAL HINDI

T =t

141. 29 yreq B- 145. 9 o= o foram TRt 6T 31E & 2-
B et B. &gy &l
. aw C. & qul st femam)
' D. ey fog
D. forae
| 146. ot a5 9 vt & firsfia wvft 3 forg
142. famfrased? - RIS I G2k TR CG G b pe— foram
A, w91 o w9 & o a1 & sfr s T ST g3
g a2, 34 fof e 2 A EE R
B.  CHTH oh HTEAH & TEY AT E SAIfer T B.  mrag fam
siver BT 2, 3 R e 3 C.  esfter: e
C. U forrwor o forr &9 & g 71 &t .. SOEI fem
SRt 2B ey Brer &, S o e B 147. ¥t =T ST TR 7 37 -
D. &g A EefiE
” B. gfzyzdrm
T thejobsyogi. e
B. affaef 148. fyforfad o & 4 o1 315e f3RT 3162 2-
C. 3rdreft A. T
D. fafer B. fom@ar
144. T, 9 AT 8 T2 19 T J[ER ¥ 8- C. wam
D. dmr
A. ! IE T TR ”
B. B UM! I AT T ' ; Wm%
C. T TH?IE HTRITEN B.
D. 84S C. 9—
D. =
SPACE FOR ROUGH WORK / T% &1d @ forar sirg
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150.  "RQ-TeT' 3168 o THET IS T Tl AT 155. 9o S ST & -

ferre Em- A ot s

A, SRS B. Toq 4T UTq o i #

B. R fere e C. fraiksiad

C. YRAHIA D. = dFs e

D. e & 7 156.  sre ferrs forms a1 St oot G -
151.  T=T 3 SR W 1 o foha 9e Bid 8- &1 SRt SRl 31T i o T

A A B. e & ol o USHITIeh I16¢ ohl 31T 91

B. u™ & feru)

C. ¥« C. I@EAqH

D. 38 D. IS/ fo=g ol Jore i & foig
152. =y T RIS 7 S ST HOT' TR H - 157, '37erq" o1 1ehreleh TIeg -

FATH T SR g 3 A FHd

A. HIYdrEH B. frufx

B.  Frepram C. Fmrem

C. Yy 1 ' D. Ty

o st tEJODSYOGILAMN o, mormet
153. o1 Taped T ST Tl & Seh a1er ol JohH &- A O

A. faftaress g B. =

B. gt Cc wh

C. a1 D.

D. ST 159.  37ec HETCHT o1 GHTH foTg HEM 3ATeaT &
154, s e a s o s o 8- SEhl L | I ----- T 3

A. SR A fa

B. dwdaid B. HHURS

C. fome C. agslife

D. foermem D. dqEY
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160. && ue fume = e 2- 165. T T Y[ER ¥ 2-

A. o A.  THEIT

B. ~ B. M

C. . C. UHEH

D. xxx D. FHHHE AL
161, it watay orsd et gy it 100 TS A R M e =B o <ft

T - 1Y T 8-

A. 3ot et ’;" ;

B. 3TE e o

C. dferer yyaehret I

D. @I Y 167, s P s A
162. g= @ AR &- A

A JH B. =X

B. 3meRd C. @

C. d&rd D. duf=

D. ¥said 168. I WM @1 Tl §; | i 9T 368 Fa-1H 2-
163, ame-ar st i EAE] O DS YO g:czfjg

A. ST UAT, 98d TSdHT

B. 3TE% 3T 31 TS - sﬂﬁﬁaﬁqﬁ

C.  fadtera 169. “YarsT T GHTTF 3164 8-

D. A A. SoE B. STeist
164.  STohY TT AITAH | AT I J[EG HITST - C um D.

A, SR TR A R 170. wxfraaedd.

B, S 3 A PR S S

C. SR ToH1 S B B, o i

D. e i I —

D. HIFE T
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171, yTreiiaT T Y3 F9 Fed 2- 176. gerg g3 3R 98 9ot Ued Y& & 15 H A
A.  wWEdar 9 FATR?
B. «mEd A, fasrame
C. wragrfiar B. WAd
D. H &S T C. €I
D. 389 s T
172, i A @ TR
A. Sifdereeh 177, 31eept ST 3 ST Arhifth o1 319 2-
B. wEdE® A.  3FEYe 7 fawdia otd e
C. ARhaTH B. fauda s s
D. A C. I aE qeled
D. TSI 31U 1 ATk el % A ST 8
173. R 9919 -
A. forer 178.  forwants sivgen fowg 1 TRT g7 2-
B. farex A. T I I AT ST o 22
C. wywa B. STcTeh w&dd ST 8
D. C. 3N I FAT & 74T
, . D. FHAHE T
174, smakeme=dl[1€]0DSY0Q.CoOm
A TS 179. =sauig -
B. @™ A #ALEE,
C. IT=® B. #,@,4,9
D. WS C. S,9,3,%
D. g HIE T
175.  UH wreqier it foret 3168 § [t T Trefeh
768 ST - 180. gy o |1 I1eE B-
A, TE, 3T H e A =W
B. HeTHS[EH B. faauft
C. s e C. afareff
D. 3 d ST D. waETE
SPACE FOR ROUGH WORK / T% & & ferar wirg
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GENERAL ENGLISH [T TS

181.  He met with an accident and He was 185. Choose the word which synonym for
taken to --------- hospital. “Perilous”
A a A. Rigorous
B. an B. Hazardous
C. the C. Righteous
D. No article is required D. Adventurous
182.  Choose the most suitable preposition. 186. The teacher asked me “Did you see the
Do you knOV\{ the reason ---------- his Wimbledon finals last night” the indirect
erratic behaviour. speech of above sentence is —
A. on A. The teacher asked me whether | saw
B. of the Wimbledon finals earlier night
C. for B. The teacher asked me whether | had
seen the Wimbledon finals the
D. none of above L
earlier night
183.  She had had a bad accident when she C. The teacher asked me did | see the
was just ten years old and since then she Wimbledon finals last Night
walks on an artificial leg. The underlined
Word ShOWS __________ h e D b S | None Of above
A. simple past tensE J y Qgg OQ% r[(]ves mankind is called
B. past perfect tense Optimist
C. past continuous tense B. Philanthropist
D. present perfect tense C. Affectionate
184.  Which of the following word is plural D. Lovable
A Index 188. Choose the correct spelling
B. Analysis A. Gruesome
C. Oxen B. Grusome
D Crisis C. Grosome
D. None of the above
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189. Choose the sentence in which the use of
the word ‘some’ is correct
A. Tdon’t have some money

B. Didn’tI give you some money
yesterday?
C. Ildon’t want to go to some film

D. None of the above

190.  You, he and | are

()

quilty and will be punished
(i)

for the mistake we committed
(iii)

Find which part has error

A (i)

B. (i)

C. (i)

D. No Error

191. (i) The passive voice is used when the

Agent is unknown.

(i) The passive voicgﬁ' used-when we
do not care to name t

(iii) The passive voice is used when the
person or thing acted upon is to be made
prominent.

Which statements regarding the use of
passive voice are correct.

A. only (i) and (ii)

B. only (ii) and (iii)
C. only (i) and (iii)
D

All the statements are correct

192.

193.

194.

HObSy0g

195.

‘How about a cup of coffee’? is a way to

A. seek permission
B. give information
C. make an offer

D. give an opinion

Find the Antonym for the word
“coercive”

A. Progressive

B. Gentle
C. Supporting
D. Promoting

(1) “What are you looking for’?

(it) What for are you looking?

(ii1) For what are you looking”
Which of the above is/are acceptable?
A. (i) & (ii) both

B. (i)only

CC Moty

D. (i) & (iii) both

Choose the sentence in which the use of
tense is correct

A. We have written to you yesterday
about this matter

B. | have been in Delhi three months
ago

C. Heran outside to see what is
happening

D. He would come if you wished it
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196. Choose the expression which is not 199.  Find the blank space with suitable word
appropriate in the following sentence.

A. apiece of cake “She is quite high up in the management

B. two pieces of cake

C. two piece of cakes hierarchy

A
D. an item of clothing B. heirarchy
C
D

hierarky
197, e being tired, he persisted with hyrachy
the office work.
Choose the correct word 200. “May God bless you” is ----------- :
A. Inspite of A. agreeting
B. Incase B. anemotion
C. Because C. anapology
D. Whether D. awish

198. |t is fascinating to set Wtéfj@rﬁ‘jg yo g | com

cope with surrounding adversities
choose the correct word which will
replace the underlined word.

A. adopto
B. adaptto
C. adeptin

D. assimilate to
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Time for making answers :
e
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STel Udl JATex /Werad 48—03(VDAG) Al udieli—2021 (FINAL ANSWER)

SET-A

Sub. Code - 32012/TE-BHD/RCE-M (Morning Shift)

Ans.

C
C
C
Cc
A

A

D

A
D
Cc

Qu.

181
182
183
184
185
186
187

188

189

190

191
192

163
194
195
196
197
198

199

Ans.

Cc

Cc

Cc
B
C
B
C
Cc

D

Qu.

161

162 b

163 | A

164 C

165 A

166 | D

167

168 | C

169 | B

170 | D

171
172
173

174

175
176

177

178 | C

179 | B

1% | B |200]| D

Ans.
A
A

Cc

A
D

Cc

141
142

143 | D

144 | A

145 | D

146 | A

147

148 | B

149 A

150 A

151
152

153

154 | C

155 | B

15 | B

157

158 | G

15 | B

160 | B

Ans, | Qu
D

D
c

a
A

A
B
B

c

Qu.

121

122
123

124 B

125

126 C

127
128

129 | D

130 | B

131

133
134

135

136 | A

137

1881 C

139

140 | B

Ans.

C
A
B
Cc

D
Cc
B

C.
A

A

B
£
Cc

D
D
Cc

101
102
103

104

105
1086
107
108

109
110
1

113
114

115
116

17
118
119
120

Ans. | Qu.

Cc
Cc
Cc

C

A

A

Qu,

81

82

83

85

87

91

96

97

98

00 | B

Ans.

c

61

62
63

65

67

70

744l A
a1l

73

75
7%
7
78
79

Ans. | Qu.

D
A

a4

a2

45

47

51
52
53

57

Ans. | Qu.

D

Qu.

21

22

25

27

N
32

33

35
36

37

38

39

Ans.

Qu.

10

1"
12
13
14
15
16
17
18
19
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